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THM 348 Service Operations Management
Midterm Exam Answer Sheet
1. Contrast the “Push” versus “Pull” theories of innovation. Provide one example illustrating / clarifying pull theory. (2 Points)
While push theory of innovation argues that product / service innovation originates from laboratories, pull theory of innovation argues that product / service innovation is derived from customer needs. To illustrate on the latter, suppose that ABC hotel decided to launch a shuttle from / to airport for its customers post to a thorough analysis of guests complaining about the difficulty, inconvenience and high expense of coming from / going to the nearest airport.

2. Describe the service package of “Le Piment Rouge” restaurant, a fine dining practice restaurant situated at School of Applied Technology & Management building? (2 Points)
The service package of “Le Piment Rouge” Restaurant can be:
· Supporting facility: the physical building of the restaurant and main kitchen.

· Facilitating goods: Food & Beverage, chairs, tables, plates, spoons, knives…

· Information: Reservation system, restaurant’s web site…

· Explicit services: hunger removal, order response time…
· Implicit services: hygiene of food, friendly atmosphere…
3. One challenge that service firms face is that they are competing in a difficult economic environment. One reason for that is “Product Substitution”. Could you briefly clarify this difficulty? (2 Points)
Product innovations can be a substitute for services (ex. Home pregnancy tests). Thus, service firms must not only watch other service competitors but also anticipate potential product innovations that might make their services obsolete (ex. Netflix versus DVD). 
4. “High divergence is a strategy that seeks out customers willing to pay less for the standard product / service”. Do you agree with this statement? Why? Why not? (2 Points)
No, I don’t agree with the statement. In fact, high divergence is a niche strategy that seeks out customers willing to pay more for the personalized product / service.
5. Contrast “Technology-assisted service encounter” to “Technology-mediated service encounter”. Provide an example illustrating technology-mediated service encounter? (2 Points)
While “technology-assisted service encounter” refers to the situation where only service provider has access to the technology to facilitate the delivery of face-to-face service, “technology-mediated service encounter” refers to the situation where the customer and human service provider are not physically co-located and, thus, the service encounter is no more the traditional “face-to-face” contact. Online banking, online reservation for a hotel room, restaurant seat, airline seat…or voice telephone calls to get technical help from a distant call center could be good examples of technology-mediated service encounter.
6. “Service Guarantee shall promote an understanding of the service delivery system”. Do you agree with this statement? Why? Why not? (2 Points)

Yes, I agree with the above statement. In fact, before a guarantee is made, managers must identify the possible failure points in their system and the limits to which these can be controlled. 
Good Luck
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